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Zupglh nuunigps

unphnipy Eup mwjhu wnwewunpuputipp junwpl) pun htippuljuinipui:
Nupwnhp upnugk p jnipupwisnip wnwewnpuip: Gpk sh hwennynud nplik wnwewnpuiph

widhowytu  wwunwupwut), dwdwbwlp pbuwbnt tywunwlnd Jupnn Gp npub

winpununiw] wykh niy:
PEun-gppnylh kokph nunnupl dwukpp Juwpnng kp oqunugnpdly uliugpnipyub

hunfwuip:



Puywh u k Ynsynud snp pinphsny wunnpuunws pdnpp: (7 whunjnp)
1) wupq
2) hwdtnniu

3) ppytgpwd
4) thpupniu

Sunjuph dubnhphg nmuwuldwi hunfup oquuuqnpsnd k' (7 wpunjnp)

1) Jquuihup

2) wqnph Ynnph dhwbp
3) Ypspwihup

4) dtgph tplup dljwip

Spjws thwpnbph wkuwljibphg n'pp sp poyjunpdmu oguwugnpst) unpnywd
wwwnpwunbint hwdwp: (7 dhun/np)
1) Jununt
2) Ll
3) puykunt
4) huudnpkunt

bty bquiulny £ junhwipupp hpuljuwtuginid nunkunbtph junnwiunpnonidp:
(1 pur/np)
1) jwpnpunnp
2) nphppunduljut

3) opgquunjtuwnhy
4) ppduwyunipjub swthdw

Qbpuuht Upwldwh n'p byl E Yhpungmd dpbppubpp popnp Yagdkphg
hujwuwpwsuth Yinbwwwnbine hwdwp: (7 dhun/np)
1) howonudny
2) umni-yhpny

3) phununy
4) wnuyulnuiny



Qtpuuyht Upwldwi hpfulwh Abh n’p byutrarlh £ fhpungnd dhugh oks
Junpny dubp yuwnpwunbint hwdwp: (7 dha/np)

1) pphqEpuwynpdwt

2) hwpdwil hhdtwlju

3) $np
4) pwudpwhiwpdwi /pudbkiny/

Lwith” dh mith obpuught dpwlynudp: (7 punjnp)

1) kpkp
2) Lplm
3) wmwutthhuqg
4) wmwulynp

Fhajuspwdwotip yunpuwuwnbjnt hwdwp oquugnpéynn pmdhtiught pugut
wtwp b huh (7 dpunp)

1) &wupuh htwn vhwuht juyd muwpugqus

2) sdwlignunnn wnnuuinhg

3) snigniuhg (pniohg)
4) twhuybu Supyuyunyuws b ypub yupuhdwn guudws

‘Lojwdubkphg n pi Euindwnughb pubgwpbnbi:

1) ghwntwjutudnpp

2) Qubtwy wynubnp
3) ququpp
4) nyuihlyp

bugh’ Ukg E hpuljubugymu ynghhaugnuip:
1) wunljugh

2) dké Jupuwgh

3) pntph

4) ongbth /gninpoubth/ jupuwgh



B £ ynsynud uygh obpuughn Wpwlynuidp, nph hurdup Yhpumynid kb oph htigmyy b
ququhtt yh&wiljubpp: (7 dfpunfop)

1) hwdwlgnid
2) wnuyulnid
3) hawonid
4) phunud

ﬂnp JEpuypunbtuwljutph hdpht B yunjuwiunid wnuunbkpp:
1) wnwp
2) hhduwljut
3) uwnp
4) pungp

Pusuyk u b puuwljupgoud dubpp wujuph dubnhph dwuiunnidhg htnn:
(1 dpurynp)
1) L II'b I jupgkp

2) Unown, nuthwl b opwh
3) pwg li Uniq gnyjuh
4) Supuyuyhb b Swpyuqtpdyud

P sk £ hwimhuwimy gbpunipjut thnjuwnphs obpuundywlng thurl
nwpwdnipjul uwppuynpdw uky: (7 dhun/np)
1) mwpugws swpuyp
2) wnuwp nkup
3) ohfwugwé wénijuutpp
4) 2hjugusd onp

Puywh u ki jupmu nuwyuwldwi hudwp tujeunbujws dubpp: (7 dpujop)

1) tplugwhh

2) pbnuilh

3) Nnpwiwpnwdl jud nipnuulnii

4) djwuwjht hintujwsputphtt ninnuhwyug



Uwniplikpp, pun dunnigdwh gbpdwunhgwih, nuuwupgqynud G (7 dhwnp)

1) gnp b wunkgywd
2) wwp b uwnp

3) tndwl b uwnp
4) uwnp b gn)

Zpltuwh nunbunh hbn dunmgymud ki hbnlyw) jwdupaibpp (7 dpayap)
1) dhuyt mwp
2) wupq fud pupn
3) htown jnipwugynn
4) pwtiljtnuwght

Nppw 't k£ 1 gpuud &wipugh joipugmufhg unwmgnn Fubpglnhly wipdbpp:
(1 dpunjnp)

1) 6,14/fuy
2) 10,7 4/juy
3) 9,3 i/juy
4) 4,1 4/juy

N pb Eudbbwwuyni Jpowdhip: (7 dpunjnp)
1) C
2) D
3) A
4 E

Npb b hhdiwljwi tnup mnkunh dunmgdwh shpdwunh&wip: (7 dpunjop)

1) 85-90
2) 51-56
3) 32-45
4) 60-65



& pp bt wljughnud wyp $ph Enwibunyg weygwlgng upnndht: (7 dpayap)

1) dhtsh obpdwdowlynidp uljubyp

2) obpdwdowlnidp wjwpunbkinig 5 pnyk wnwy
3) obpdwdswljuwl pupugpnid

4) obpdwdrwlnidp wjwpunbkinig htwnn

N°pl E oph bl gbpuwunh&wip uinhlh uywb 760U guodwh plupnud:
(1 dfurjap)

1) 97
2) 105
3) 80
4) 100

N0°p ot E hwdwpdmd ghtanhly: (7 dpunnp)

1) wpunwunpnipjut yuwhhg dhsh 7 op
2) wpununpnipjub yuwhhg dhtsh 15 op
3) wpuunpnipjul yuwhhg dhtsh 9 op
4) wpununpnipjut yuwhhg dhsh 13 op

Pusuyk u E withhpwdbow k awply opquinuljwi pentikp wpupniiwlnn Juib
pwbowntntubpn: (7 Jpw/np)
1) pny Enh wquydwbubpnid
2) owwn pwtwlh nidght Enwgnn wnweopnid
3) wnwig tnh
4) gpuyht punthpnud

Opput whwp  (hith wyyniph puquuht et npgoctp: (7 dpasgnp)

1) 11.1%
2) 12.5%
3) 14.5%
4) 15.3%



Otpuuyht Upwlwi n’p byuinalh E jhpumdma inghlp Yhnlwqbpsknt hudup:
(1 dpunp)

1) nmwyuldwb hhdtwlju

2) tngpdwil

3) uwngdwl

4) pwbdpwhiwrdwb (npudbkin)

0'pb E Swpwyuyminn Jhnwdhbp: (7 dpurjnp)

1) C
2) B12
3) PP
4 X

N°pl k gbpuiught dpwldwh Ynuphtugyws tywbwlyp: (7 dpuargnp)

1) onghkhuwpynuup
2) pwtdpwjuwonidp
3) dwpuuwhkpnudp
4) gpuyhli punuhpp

Bty wn whnp k oqunugnpéty anhwpupuljwh tuuwwnwyny: (7 dpaninp)
1) hudbddwd
2) uhwuphwnwght
3) snpugdud
4) Shutigwd

Funhwpupp hiswh u yhwnp Eyunnpuunh nunkunp hwbnpught uibigh
dintwnpynipynimd: (7 dhun/np)
1) hhonnnipjudp
2) tjupht hwdwywnwuhwt
3) Juynipgughuwjhtt hudwwyuwnwuhiuh
4) wbkhiuninghwljut pupwnht hwdwywnwupuw



Spqwistikphg 3-p wwwpwwwnnuyhl pubguptnkutbp b Lok gubg
hwdwpubpp: (3 dhur/np)

nuihy

ghintiwjutidnp

ququip

pPutnun

Junudp

Jupnndhy
wwuwnbpbul

NS U ke W=

Spwéhitphg 3-p umnUnhwqghikph pvwthphtt yunljuwing dyukp G
‘Lot npuiig hwdwpubpp: (3 Jpunp)

hohuuw

|npn

pnLuw

JtEwnw
punuth
Jupupwiwgn
odwdntl

NS Uk W=

Spywstubtphg 3-p dubphg wunpwuwnynn puuljwt jhuwpwpphjuntitnh
wnbuwljubp B Uoky npuitig hwdwpubpn: 3 vhw/np)

pnt)| wnunpjus

thnpp [junpubpny

Uinp b punwlyniuh

Ynown b thuthntly

pudhuwghtt unputipny

UkS Junpubtipny

hjnipwih b gpuqplpfus

N o s W=



Spywsubtphg 3-p wunnuyht pmbgwpbntuubp Gu: Lok Hpug hwdwpukpp:
(3 dpurjnp)

pony
Inhy
wwwnhunb
gunquil
puiqnily
qmifu unfu
udpnily

NSV ke W=

Zhnlywy uungpué Jhuwdwpphljunbphg 3-p Jupkh k obpludowjl] mnwig
huy kgubnt: Lok npung hwdwputpp: (3 Jhw/np)

UkSd Junpny dhup

wdpnnowljuti dnilyp

Quitiwy nphlu

wudpnnowljut hwyp

Supuyubkndws pwbpwptnkuubpp

wdpnnowljwt nynidp

Jupuwnguws b tnopdws Jupunndhip

NSV ke W=

Spyws wjunmidutnhg 3-p &hown b Lok npung hwdwnpubpp: (3 vpw/np)

1. Iunhwpwph hhdtwlwu gnpshputpt bt hp 5 qquyupuubpp:

2. Yhuwdwpphjuntbtpp qunpuunynid ki ninkunh unhwpuwpuljut
Jtpotwjut dpwljuwt thnyynud:

3. Uwpgnt 1 opdu Jhuuwmgnpéntubinipyut hwdwp wtthpwdbtown utintunp
Ynsynid k w:

4. Unguutbkpp gquunjuinid tu vwnp Jhpujpuntuwlutph judpht:

5. Ququph gnibuwynpny tkpuiynipp Ynsynd L npput jupdhp:

6. Zwyjjulwl junhwingh hhdtwjut wpwtduwhwnlnipniuutphg k unjuyh
unniuh Yhpwnnipniup:

7. Zwjjulwt pnhwingnid nunbunh wtunip punid E ppu yunpuundwi

wnbkjuininghwyhg:



Spywsubtphg 3-p huyljuwh hmgunbtuwlubp Eu: Lok ngpuing hwdwpukpp:
(3 dfpunp)

NS e W=

pughwn
wniph

2np
popnnhiyub
poup

il

pwwnni

Npnup b yunpuwunh mnbunh dunmgnidhg wewe hpwljwinugynn
hhdtwjut gnpénnnipjniuubpp: Lok npuug hwdwpubpp: 3 dhw/np)

1.

NSk W

wupktwyhtt wypwuputph (Jugnid
wnuwhwdbuniipuyhtt ppuntunipnh ywwnpuwuwnnd
wupktwyhtt wypwuputph qunid

otinngh twpiwwwwnpuuwnnid

hunhwpwpwljuwb twptwui dpulynid

Jupuwh b mwuwyuljh thuy gnid
hunhwpwpwlju yepotwju Upwlnid

Spywsutphg 3-p muwuljdw hwdwp oquugnpdynn thwl mupwsnipniiukp tu:
Lok npuitg hwdwinpubpp: (3 Jpunfnp)

N oV s W=

huwunttmgdwt okpdwywhwpunp

Juthwunphsny dwsldws pudu
unynpuljub onngp
Juthwuphsny dwsldws jupuw
hntop

onghnt]tlghnl gknngp
ufinnfjunp
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Uwniputinp nuuwljupgynud Eu pun npjusutphg 3-h: Lok npuiig hwdwpikpp:
(3 dpranp)

dubiph mkuwlukph

htniyh hhuiph

putigwptnbwht judpkph

dwunnmigdw obpdwunhgwith

gnijubkph

wnipubph pnqudnipjui

wuwwnpwundwb duh

NSk W=
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